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35. (@) v — [x(d) + blu=5

® v=[b]u dt +c] fu),

uit) = exp[—(ar?/2) — bt

37. Y=clnt+e, ¢

=42 >0
<0 y=-2r14 if g

={ alsoy =,

Hint: p(v) = v=3 jsan integrating factor,

cfy:clt—ln[1+clrl+u:'2ifc1 £0 y=%tz+cz1'fcl=0; alsoy = ¢

43. y = ¢y sin(r + C2) =kisint 4k, cos
45, ¢t + C; = :l:%(y - 2(,‘1)(}1 + Cl)l’f?‘

4. ¢ =+ )2+ ¢,

49. y=2(1~p-2

3 3

2. y=cre™ 4 et
4. y= Clex’fz -~ Cze’
6. y =1 pyp-Ur2

10. y = %e"—-%e‘3‘; Yy—>0last - o0

36 y= arl 4o+ Ins
3B y=/k)Injk ~ D/k+0+cif e
¥ = (2/k) arctan(r/k) + cpifc; = —42
39 y=%2¢- 2e0VTF el 4 ¢ alsoy=¢
0. y=cre + ¢, — g :
41,
2, V=t + fa)
4. 1 -2y 4 ¢ =2t alsoy=c¢
46. ylnly| —Ytoay+f=cy alsoy=¢
B y=3e+1)2 - ;
50, y=3Inr— gln(t2+1)—Sa.rctanr+2+
Sl y= %!‘2 + %
CHAPTER 3 Section 3.1, page 142
e Ly=ce+ce
3 y=ce”? 4 gy
5.y = ¢y + e
7y =c1expl(9 + 3v/3)t/2] 4 ¢z €xpl(9 ~ 3+/5)2/2]
8. ¥y =crexpl(1 + V31 + ¢, expf(1 — +/3)]
9.vy=¢; y- 00 ast — oo
11 y = 12¢'3 _ ggir2, Y~ —~coast— oo
12.y=—1—¢> Y= ~last— oo
13. y= 213+ 5/T3) expl(—5 + V/13)t/2) +

14.
15.
16.
17.
15.
20.
21.
23.
24,
25,

26.

27.
28.

Yy—>0ast— oo

Y =1{2/v33)expl(~1 + v33)t/4] —
y= %8—9(:—1) + %e’”l;
y= —%e('+2)f2 + 2%‘,',—{t+2),f2;
yﬂ +yi' — 6}’ =0

y=Ltet ot
Y =—¢ +3¢"% maximum is
o=-2

y—=Ofore <0; y becomes unbounded £

y—=0fora <1; there is no a for which
(@) y= %(1 +28)e % 1 s(4—2p)er
ey B=2 .

(@) y=(6+Bre ~ (4 4 gye-
(b) tn = Inf(12 + 38) /(12 + 28],
(©) B=6(1+3) =163923

(@) y=dyc

(a) b > 0and 0 < ¢ « b /da

{©) 6<0ando < < b%/4q

Ym

(2/~/33) expl(~1 — +/33)1/4};

Y= oast 5 0o

minimumisy:latt:l.u
y=§atr=1n(9/4),y=0atr=1n9

=56+5Y/(4+ gy

% (13 — 5/13) exp[(~5 — V13)1/2;;

Y= ooast - o

Y= —ooast— oo

18. 2y + 5y’ + 2y =0

2

2. =41

ora >1
all nonzero solutions become unbounded

(b) y = 0.71548 when r — 2in6 = 0.71670

@) tn > In@3/2), y, - o
() a¥Y” + by 4oy = 0
(B c<0




